
Max Grammar 10 Minutes 

No.21： 現在進行形 その１ 

 

POINT 1： 現在進行形の肯定文、否定文、疑問文 

 

☆現在進行形： am/is/are ～ing「～している（ところだ）」 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ex) I am studying English.  He is watching TV now.   

             be 動詞 + ～ing        be動詞 + ～ing 

 

 

 

 

ex)  I’m not studying English. He isn’t watching TV now. 

             be + not + ～ing        be + not + ～ing 

 

  

 

 

 

ex)  Are you studying English?  Is he watching TV now? 

          Be  S   ～ing    Be S ～ing 

 

     【答え方】 Yes, he can.  /  No, he can’t. 

 

肯定文  I am ～ing  /  He is ～ing 

否定文   I’m not ～ing  /  He isn’t ～ing 

疑問文  Are you ～ing?  /  Is he ～ing? 
be動詞を主語の前に 

持ってくる 

be動詞にnotを付ける 

新しい文法だけど、be 動詞の文であることには変わりないね。 

肯定文の作り方はこれまでの be 動詞の文と全く同じだよ。 

 

I am ～ He/She is ～ They are ～ 

I am not ～ He/She is ～ They are not ～ 

Are you ～ ? Is he/she ～ ? Are they ～ ? 

 

      ～の部分が「～ing」になるだけだよ。 

 

I am ～ing He/She is ～ing They are ～ing 

I am not ～ing He/She is ～ing They are not ～ing 

Are you ～ing? Is he/she ～ing ? Are they ～ing ? 

 



POINT 2： 普通の文と進行形の文の違い 

 

 

 時間の感覚  「普段」という広い意味での「現在」 … 「今、この瞬間」に限らない  

 

 

 

 

 

 

 

 

I play the guitar. 

 

 

 

 

 

 

The gorilla throws stones. 

 

 

 

 時間の感覚  「今、この瞬間」という意味での「現在」 

 

 

 

 

 

 

 

 

 

I’m playing the guitar. 

 

 

 

 

 

 

The gorilla is throwing stones. 

進行形の文 「～している（ところだ、最中だ）」 

普通の文 「～する」 

「現在のその人」について 

表していれば良い 

今、その瞬間のことではないので

動きがリアルに感じない 

まさに「今、この瞬間」のこと 

（他の時間のことは関係ない） 

今、その瞬間のことなので 

リアルに動いている姿が見える 



CHECK問題 21 

 

 A   下線部を英語に直すとき、進行形になるものはS、普通の文になるものはFと答えなさい。 

 

01   彼女は今、静かに本を読んでいる。 

02   マツコは休みの日に川沿いを走る。 

03   だれだ、こんな夜中に歌っているのは！？ 

04   マヤさん、ご趣味は？ － 私はバイオリンを弾きますの。 

05   ほら、見て。雲が流れているよ。 

06   あの先生って何の先生？ － 彼女は英語を教えているんだって。 

 

 B   次の文を進行形に直しなさい。（肯定文は肯定文に、否定文は否定文に、疑問文は疑問文 

に直すこと） 

01   He eats lunch with his friends. 

02   I study at library. 

03   I don’t clean the bathroom. 

04   Kanako doesn’t cook dinner. 

05   Do you read a magazine?  -  Yes, I do. 

06   Does he walk in the park?  -  No, he doesn’t. 

 

 C   次の文をもとに、現在進行形の肯定、否定、疑問文を完成させなさい。 

01   I watch a movie. 

  （肯） 

 （否） 

 （疑）       （youでたずねる） 

02   Lina talks with her parents.  

  （肯） 

 （否） 

 （疑）       

03   They speak Chinese.  

  （肯） 

 （否） 

 （疑）       



CHECK問題 21 解答 

 

 A  

01   S  

02   F 

03   S 

04   F 

05   S 

06   F 

 

 B  

01   He is eating lunch with his friends. 

02   I am studying at library. 

03   I’m not cleaning the bathroom. 

04   Kanako isn’t cooking dinner. 

05   Are you reading a magazine?  -  Yes, I am. 

06   Is he walking in the park?  -  No, he isn’t. 

 

 C  

01   I watch a movie. 

  （肯）I am watching a movie. 

 （否）I’m not watching a movie. 

 （疑）Are you watching a movie? 

02   Lina talks with her parents.  

  （肯）Lina is talking with her parents. 

 （否）Lina isn’t talking with her parents. 

 （疑）Is Lina talking with her parents? 

03   They speak Chinese.  

  （肯）They are speaking Chinese. 

 （否）They are not speaking Chinese. 

 （疑）Are they speaking Chinese?       

  


